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We multiply by — to make the same denominator.
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4 + + 4 4 2 is a form of the number 1.
) 1 5 l( ] 5 + We multiply by — to make the same denominator.
3 6 3 6 6 6 — is a form of the number 1.
) 1 9 1[ J D) + We multiply by — to make the same denominator.
2 L4 2 14 L4 L4 — is a form of the number 1.
3) 1, 3 _ l( ] 3 _ + _ We multiply by — to make the same demnominator.
2 10 2 10 10 10
— is a form of the number 1.
4) 1 + 3 — l( j + 3 — + _ We multiply by — to make the same denominator.
4 8 4 8 8 8
— s a form of the number 1.
5) 2, 2 2( J 2 + _ We multiply by — to make the same demominator.
) 15 ) 15 15 15
— is a form of the number 1.
6) A 9 i( j 2 + _ We multiply by — to make the same demominator.
3 15 3 15 15 15 i
— is a form of the mumber 1.
) 2,3 = E[—j 3 = - = We multiply by — to make the same denominator.
) 15 5 15 15 15
— is a form of the number 1.
) 3 T 3( ] T + _ We multiply by — to make the same denominator.
4 16 4 16 16 16

— is a form of the number 1.



